= ==
Mmos x E

TH S FEALAINZEE B E L K FHE SRR E

S5 B D

EE A AMEE

=1 B ZEBHEEXHEE
BEoMa2 REHRHE
BREES 18-11-23-025



BEANRE AHSER AL AN 2255 B RS I R P iE B M SR Bt

% R B - RRSTiE B % B B ff & i) m o=

E R 14,959, 975
B 14,959, 975
EY B 6, 764,038
FAHh S R ER BT 6, 764,038
FAHh S R ER BT 6, 764,038
1 FthiE R EMEERE 1.00 6,082,971.00 6,082, 971

=
? BETREET 1.00 681, 067. 00 681, 067

=
HE MR Et 7,147, 848
HE MR Et 7,147, 848
HeEkEREt 7,147, 848
3 Fm - WM SRR A 1.00 1, 650, 848. 00 1,650, 848

=
4 ERFEMERE 1.00 3,938, 800. 00 3,938, 800

=
5 FEEERET 1.00 1, 558, 200. 00 1, 558, 200

=
&€ 334, 600
&€ 334, 600
HEEHE 334, 600
6 A= 1.00 90, 800. 00 90, 800

=]




BEANRE AHSER AL AN 2255 B RS I R P iE B M SR Bt

% R R - RARSTiE B % B B % i) m o=

T PR E 1.00 90, 800. 00 90, 800

=]
8 mWMmE 1.00 153, 000. 00 153, 000

=]
E#EEE 713, 489
E#EEE 713, 489
EHRARE 132, 233
9 EBHAMLE 1.00 132, 233. 00 132, 233

=
EBRRERE 581, 256
10 ENRISAE 1.00 581, 256. 00 581, 256

=




WIER FHSFEL M ERBERERAMERERHE

% g - AKSTiE Bifr B 2 B i & 8 W =
BRI 14,246,486 + 713,489 14,959, 975
EEAGE 14, 246, 486
EERE 713, 489
T DR 14,246,486 x 53.85% ( 35% + (1 — 35%) ) 7,671,732
BRI 14,959,975 + 7,671,732 22,631,707
—REEES 22,631,707 x 53.85% ( 35% = (1 — 35% ) ) — 8 881 12,178, 293
KBS 22,631,707 + 12,178,293 34,810, 000
HETR SR L 34,810,000 x 10.00% 3,481,000
EBERN 34,810,000 + 3,481,000 38,291, 000




=

Bffik-fEI/\vr—>

1

HSEEAL M E B ERE R AthE R R

= .
%5 . At EREREERET IEED)
£ 5 g - BIRTiE BAf H = B & # i i
BE - Bk
A 2. 940 70, 900. 00 208, 446
FAEHER
A 10. 290 62, 200. 00 640, 038
FERER BE
A 0. 980 62, 200. 00 60, 956
AR (A)
A 24.110 55, 200. 00 1, 330, 872
HEm (A) BE
A 0. 490 55, 200. 00 27,048
HER (B)
A 39.790 45, 300. 00 1,802, 487
AR (C)
A 34.890 35, 600. 00 1,242,084
Bifg
A 24. 400 31, 600. 00 771, 040
& it E%82H : 1.00=% 6,082, 971. 00 6,082, 971
FEEMESEE L
FHE—IEWHE Tl
&5 :2
&% MEISEEHETE 1=y
£ 5 L - BRTiE BAf H = B & % i i
BE - Bk
A 1.190 70, 900. 00 84, 371
FAEHER
A 1.130 62, 200. 00 70, 286
AR (A)
A 2.000 55, 200. 00 110, 400
HER (B)
A 3. 460 45, 300. 00 156, 738
AR (C)
A 3.830 35, 600. 00 136, 348
Bifg
A 3.890 31, 600. 00 122, 924
& it E%82H : 1.00=% 681, 067. 00 681,067

FHIHERESMEE 2 L
FHE—IEEE - BL




Bffik-fEI/\vr—>

HSEEAL M E B ERE R AthE R R

&5 :3
%5 T@E - HEEETERERET 14y
2 b g - BIRTE L= vd = B ® # " =
FEHER
A 2.330 62, 200. 00 144, 926
FEHER BE
A 2.330 62, 200. 00 144, 926
AR (A)
A 3. 500 55, 200. 00 193, 200
HEm (A) BE
A 2.330 55, 200. 00 128,616
HEm (B)
A 9.320 45, 300. 00 422,196
AR (C)
A 6.990 35, 600. 00 248, 844
g
A 11. 650 31, 600. 00 368, 140
& Hi 1E%HeH 1,00 1, 650, 848. 00 1,650, 848
T EE L
FHE—IEWHE Tl
Hz5:4
£F . BEREEMRRE 14y
2 b g - BIRTE L= vd = B ® # " =
AR (A)
A 12. 000 55, 200. 00 662, 400
HEm (B)
A 24.000 45, 300. 00 1,087, 200
HEm (B) BE
A 4. 000 45, 300. 00 181, 200
AR (C)
A 28.000 35, 600. 00 996, 800
g
A 32.000 31, 600. 00 1,011, 200
& Hi 1E%HeH 1,00 3, 938, 800. 00 3, 938, 800

FHERESMEE 2 L
FHE—IEEE - BL




Bffik-fEI/\vr—>

HSEEAL M E B ERE R AthE R R

F5 .5
275 BREMRRE 1LY
2 b g - BIRTE L= vd = B O ® # " =
AR (A)
A 6. 000 55, 200. 00 331, 200
HEm (A) BE
A 1.000 55, 200. 00 55,200
HEm (B)
A 12. 000 45, 300. 00 543, 600
HEm (B) BE
A 2.000 45, 300. 00 90, 600
AR (C)
A 8.000 35, 600. 00 284, 800
g
A 8.000 31, 600. 00 252, 800
& Hi 1E%HeH 1,00 1, 558, 200. 00 1,558, 200
T EE L
FHE—IEWHE Tl
ES .6
¥ BATHE HEED
2 b g - BIRTE L= vd = B O ® # " =
AR (A)
A 1.000 55, 200. 00 55,200
AR (C)
A 1.000 35, 600. 00 35, 600
& Hi 1YEZHER - 1.00[E 90, 800. 00 90, 800
T EE L
FHE—IEWHE Tl
&5 .1
& PRERE HEED)
2 b g - BIRTE = v = B Ol ® 5 # " =
AR (A)
A 1.000 55, 200. 00 55,200
AR (C)
A 1.000 35, 600. 00 35, 600
& Hi 1YEZHEH - 1.00[E 90, 800. 00 90, 800

FHERESMEE 2 L
FHE—IEEE - BL




BfR-BEI/\vsr—>

HSEEAL M E B ERE R AthE R R

5.8
2T EW|E HEED
2 b g - BIRTE L= vd = B O %8 # " =
FERER
A 1.000 62, 200. 00 62, 200
AR (A)
A 1.000 55, 200. 00 55,200
AR (C)
A 1.000 35, 600. 00 35, 600
& Hi 1YEZHEH - 1.00[E 153, 000. 00 153, 000
T EE L
FHE—REMHE : TL
59
&% EHARE 1LY
2 b g - BIRTE = v = B Ol %8 # " =
EXRARE
= 1.000 132, 233.00 132, 233
& Hi 1E%HeH 1,00 132, 233.00 132, 233
FIEEEMIEE L
FHE—REWE : TL
&5 :10
%5 ENRIRAE 1=y
2 b g - BIRTE = v = B Ol %8 # " =
RIHEEN
= 1.000 581, 256. 00 581, 256
& Hi 1E%HeH 1,00 581, 256. 00 581, 256

FEEMESNEE L
FHE—IEWHE : TL




